_i -,\QOH )"’J\D

ONIT DOY0RP MIKIT DTERN0T 2w M0Dmnn DX MTP DX R L1

2x -1

103 =
0.3} . XT+2
36 y= ot
[
1241 y=x® 3
.[l,el y=x Inx .7
M .
) AXHD) —(2x=0: X —axtax=ad
® I = (x*+2)? I (x> a2)"
) 2 2 Y =i
J:o S —2XHA2X+Y4Y =0 S X —X—H = o &= X= 2

(2.09) Xy==4 , Ka=2

/ I (3.0.455) . [0 ) 3) \kc z/g JQ‘\Q’ X=2 /[Jm P

(0.5.0) - ; _ | _g(‘o) = —0. A} - CS)J QfMJ'IJ
/ fD=0.5 = (B ooy

| | | | (3 =0.45¢

0.5

_ XY x £y L (x-2) R =X<¢
6 Y= < & ]
NN 2(x-g) € — (x—2) & i Q(x~.2)-[:2-(x—,z)] T (x~ﬂ~>(;!-><7
A (e)* e’ - <
\j,’:O i X4=9 > XL=4 = 'C3’63 \‘C}) X=N /Z‘sh 0
3C(3) 2 0.05
fWzo0r = ¢ Sy .oumﬂ
$6) = p.ox = 2 Ay
© y=xe & | -—asx=y

— _ 2 -xl 3
= y=axe +x ¥ = axe” (4-x)
J=0 =2 XUIUR) T 2 X= 4, o, 4

£C2) >~ 0,073 - CSow NIV

1y (139) 1 - 2 K



|

FE2) > 0,04y - G N p}J‘o)/\/
-0 = o0.37

3C(o7 = 0

Lo >o.3¢ = W eloy
Q(\O < §.000062 =D CS:)AJ )N N

@  Y=xbo [+ <)
O\Z ,Q(x)+x >< ,a(x +4

—1
- }"O ~ /Q,\(x)=~_L =S X =S X 0,367

%(q) —0. 2N6

JC ~e,> e T -0.36% 02— LCAIN en s
}(@> = e = 2.1 = ANZEINS o
2
PR TN IN0AY D2PW S 22 Y xmn? o2pw 200 2w i 02xm 30 312w 23 10m mo
TN DOYIW N0IIW 2T XTI DAY T A2 NAW? N IR XN 191 XTI
Rég i takiolpla)
Loo
0<X =< < —MNo IR orsN™ ADON =R : [”J\D
= ( 2 o
{—(x)— 30+x)(200-sx)=—SX + Sox + 60600 = Doy
\
(0= -dox+so =0 & X=5
§(o= Gooo
£(s) = 6los - Gy Q)J‘O‘Y\/
g (o) =
RN AFST a0 AN e Ko J‘L‘b?—lj o Do PR
3
DY . 150 W 0120 07w onn TR 22 IR L,DWIR 20 2w A%12 NTI0 NNOPY A7Y0N2 OX
5 DTN TR 22 2YWN L1 X122 O08AY LA01 QTR 90 M2y 197 ,YXan Y 100 1Tvonn
.mno
PIRMI0PA 10120 AN ATY0NIW 272 A AX12p? ANV 027X DOWIN NI XY WX
.2"37 7pn2 I AX1aPR ATV0N YW AN0IIN AN 02,2070 NN 7 29w 0D NI R¥ .2
Aso
O0fLx< < = 3o \QOJIQ/ PQKD s = X : )\qj’a

»—L()(\:: T P ENA W P SN :/fvl—l» v 4L VA~ — ~ A a~

2 w5y (1341) - 2



O$><<‘( = 30 Yol Q) kD = X : S
< DRI A IND Ll

00 = (90+%) Uso—sx) =— X~ foX +3co00 = DoP®
C=-Jox+se =0 &  x=%
£ = 2000

S(s) = 2as

£y = ©

Py L (®
f 3lor o PN SopD . N Ao S p&)oﬁ @

4
X171 a0 222700 30 YW ax1ap? 007 22000 DWW 2TINY W NN aYUEn PN NNan

2°01n7  50-2 2108 1 DR 2NN 10200 ,AX12P2 (08T a0 20n 22 201 on? 2000
77 O3 R¥M 207910 1031977 PN NN NI2APW 279 ,1%12P2 0277010 190n NAY TIX D

2 500 20 NY9RA0PAI 01N

o<~ < <o = Mo \3\)_@\)11, \e'fC,.m e = Y :))—UIQ

7C(X) T (30+><)'(3000—§ox) = —<So XL{-S LSo0oX+Boooo =

:\?)s’h
L) = —Joox+ $XSpo=0 & x= &S

. _J»(Jllgﬁ ':3\)‘](; 'OL EO\ 40_3 ‘66@ U,k x=52s 'n\%‘/J’-’\
$(o = o, 000 = fQNN P’“OY/
(46 = O

& Guy000 z)?f“‘d}lJ [NID) mijh’h o (N0 p‘g"csrb ‘o q)eD

5
MR 10 73 ¥ .20 X171 217 ¥Xmnn MMW:T 1907 TR 2pw X170 DR 11920 DY 00 WK

.1-200% ¥yXmnn mMmwa 9on T MY N DR DY
NYIRN0PR 7NN 01T T NAR AW NN NP POX AN R¥n X

201% nUYRPOPHN 0T Y .2

O=x =20 9}‘5 ‘63/""‘“ V' vy o =X :)\')J\@

jC(x) = (260X (140 dx) = -0 I X +%x+ 25 =
£Po0=—0.ax44 =0 <= %= -
j(*(o) = 20

‘ho\J’D'x\

3wy (1341) -2 X



®

e

NS

L, <

-
i=

oy

e 4.5

!

o/vo

) Sh)JJ

Y =

T(20)

4 1y (13-7) 1 - 2’0



